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JavaScript v +

let "city™: "Riyadh", "country": “Saudi Arabia" "city™: "Dubai", "country”: "United Arab Emirates™
let array.length

let "#currentIndex11#”

currentIndex = parseInt(currentIndex currentIndex : @

let "false”

et wn

let o

if (currentIndex < array.length
city = array[currentIndex].city
country = array|currentIndex].country
currentIndex - currentIndex+1
else
loop end "true

setConversationVariables
setConversationvariables("c

city, "text"
untry”, country, "text"

setConversationVariables("currentIndex”, currentIndex, "text"
setConversationvariables("loop_end", loop_end, "text"

setConversationvariables("arrloop™,arr, "text"
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JavaScript v o

const "#content#”
const content.charat(e

if (firstCharacter.match

setConversationvariables('isenglish®, "true", "string"
else if (firstCharacter.match
setConversationvariables('is Arabic’, "true", "string”

else
setConversationvariables('isPhrase’, "false"




